Cost Opening: June 4, 2020

Procurement Agent: Jovan Hooper

ITB Name: Runway Incursion Mitigation – PDK 11 – Taxiway Improvements

ITB No.: 20-101257

DeKalb County

			CW MATTHEWS CONTRACTING CO., INC.		LEWIS CONTRACTING SERVICES, LLC		BRTU CONSTRUCTION, INC.		. ASTRA GROUP, INC.		PRECISION 2000, INC.			
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	EST. QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1	C-100	CONTRACTOR QUALITY CONTROL PROGRAM (CQCP)	1	L. SUM	\$63,112.87	\$63,112.87	\$116,649.11	\$116,649.11	\$40,000.00	\$40,000.00	\$422,670.85	\$422,670.85	\$303,297.40	\$303,297.40
2	C-105-6.1	MOBILIZATION	1	L. SUM	\$835,459.95	\$835,459.95	\$650,464.92	\$650,464.92	\$963,170.00	\$963,170.00	\$307,488.80	\$307,488.80	\$397,443.00	\$397,443.00
3	C-105-6.2	ENGINEER'S FIELD COMPLEX	1	L. SUM	\$70,830.15	\$70,830.15	\$59,420.35	\$59,420.35	\$50,001.00	\$50,001.00	\$20,886.65	\$20,886.65	\$27,861.50	\$27,861.50
4	P-101-5.1	ASPHALTIC PAVEMENT REMOVAL, INCLUDING BASE	9,910	SQ. YD.	\$14.88	\$147,460.80	\$17.45	\$172,929.50	\$15.00	\$148,650.00	\$6.74	\$66,793.40	\$18.50	\$183,335.00
5	P-101-5.2	MISCELLANEOUS PAVEMENT REMOVAL	50	SQ. YD.	\$160.89	\$8,044.50	\$29.11	\$1,455.50	\$50.00	\$2,500.00	\$23.75	\$1,187.50	\$18.90	\$945.00
6	P-101-5.3	REMOVE EXISTING PIPE (ALL SIZES)	400	LIN. FT.	\$24.15	\$9,660.00	\$27.12	\$10,848.00	\$25.00	\$10,000.00	\$30.66	\$12,264.00	\$13.90	\$5,560.00
7	P-101-5.4	REMOVE EXISTING DRAINAGE STRUCTURE	2	EACH	\$500.00	\$1,000.00	\$1,572.96	\$3,145.92	\$1,000.00	\$2,000.00	\$634.58	\$1,269.16	\$1,244.90	\$2,489.80
8	P-101-5.5	ABANDON PIPE IN-PLACE, FLOWABLE FILL	306	LIN. FT.	\$63.96	\$19,571.76	\$33.47	\$10,241.82	\$78.00	\$23,868.00	\$81.18	\$24,841.08	\$21.20	\$6,487.20
9	P-152-4.1	UNCLASSIFIED EXCAVATION	10,263	CU. YD.	\$14.18	\$145,529.34	\$4.93	\$50,596.59	\$36.00	\$369,468.00	\$17.00	\$174,471.00	\$8.30	\$85,182.90
10	P-152-4.2	MUCK EXCAVATION	4,014	CU. YD.	\$40.52	\$162,647.28	\$26.74	\$107,334.36	\$39.00	\$156,546.00	\$14.04	\$56,356.56	\$48.50	\$194,679.00
11	P-209-5.1	CRUSHED AGGREGATE BASE COURSE	2,284	CU. YD.	\$84.98	\$194,094.32	\$52.62	\$120,184.08	\$66.30	\$151,429.20	\$58.58	\$133,796.72	\$63.60	\$145,262.40
12	P-401-8.1	BITUMINOUS SURFACE COURSE PLACED IN TWO LIFTS	3,074	TONS	\$108.77	\$334,358.98	\$186.33	\$572,778.42	\$120.00	\$368,880.00	\$112.70	\$346,439.80	\$216.80	\$666,443.20
13	P-403-8.1	BITUMINOUS BASE COURSE PLACED IN TWO LIFTS	3,843	TONS	\$103.13	\$396,328.59	\$167.72	\$644,547.96	\$113.00	\$434,259.00	\$106.85	\$410,624.55	\$192.20	\$738,624.60
14	P-602-5.1	EMULSIFIED ASPHALT PRIME COAT	3,975	GAL.	\$7.09	\$28,182.75	\$8.26	\$32,833.50	\$7.80	\$31,005.00	\$7.35	\$29,216.25	\$8.40	\$33,390.00
15	P-603-5.1	EMULSIFIED ASPHALT TACK COAT	3,975	GAL.	\$3.00	\$11,925.00	\$3.49	\$13,872.75	\$3.50	\$13,912.50	\$3.11	\$12,362.25	\$8.40	\$33,390.00
16	P-620-5.1	REMOVE PAVEMENT MARKINGS	1,734	LIN. FT.	\$5.00	\$8,670.00	\$5.82	\$10,091.88	\$5.50	\$9,537.00	\$5.15	\$8,930.10	\$6.10	\$10,577.40
17	P-620-5.2	PAVEMENT MARKING, YELLOW, REFLECTIVE	3,310	SQ. FT.	\$2.00	\$6,620.00	\$4.65	\$15,391.50	\$4.50	\$14,895.00	\$2.06	\$6,818.60	\$4.90	\$16,219.00
18	P-620-5.3	PAVEMENT MARKING, BLACK, NON- REFLECTIVE	6,250	SQ. FT.	\$1.00	\$6,250.00	\$5.82	\$36,375.00	\$5.50	\$34,375.00	\$1.03	\$6,437.50	\$6.10	\$38,125.00
19	D-701-5.1	15" RCP CLASS III	54	LIN. FT.	\$42.25	\$2,281.50	\$81.92	\$4,423.68	\$85.00	\$4,590.00	\$53.63	\$2,896.02	\$52.10	\$2,813.40
20	D-701-5.2	15" RCP CLASS V	129	LIN. FT.	\$48.50	\$6,256.50	\$87.82	\$11,328.78	\$90.00	\$11,610.00	\$61.55	\$7,939.95	\$52.30	\$6,746.70
21	D-701-5.3	18" RCP CLASS V	179	LIN. FT.	\$54.27	\$9,714.33	\$90.19	\$16,144.01	\$110.00	\$19,690.00	\$68.88	\$12,329.52	\$56.00	\$10,024.00
22	D-701-5.4	24" RCP CLASS III	213	LIN. FT.	\$56.35	\$12,002.55	\$92.27	\$19,653.51	\$120.00	\$25,560.00	\$71.52	\$15,233.76	\$71.10	\$15,144.30
23	D-751-5.1	INLETS	3	EACH	\$12,000.00	\$36,000.00	\$6,851.88	\$20,555.64	\$6,000.00	\$18,000.00	\$8,550.12	\$25,650.36	\$6,233.30	\$18,699.90
24	D-752-5.1	POND OUTLET CONTROL STRUCTURE	1	EACH	\$16,500.00	\$16,500.00	\$16,793.20	\$16,793.20	\$6,000.00	\$6,000.00	\$10,007.21	\$10,007.21	\$8,543.20	\$8,543.20
25	D-752-5.2	WATER QUALITY STRUCTURE	1	EACH	\$33,742.94	\$33,742.94	\$28,811.34	\$28,811.34	\$32,000.00	\$32,000.00	\$40,552.97	\$40,552.97	\$36,395.40	\$36,395.40
26	GDOT-163A	CONSTRUCT, MAINTAIN, AND REMOVE CONSTRUCTION EXIT	2	EACH	\$5,996.57	\$11,993.14	\$3,692.71	\$7,385.42	\$2,000.00	\$4,000.00	\$2,361.87	\$4,723.74	\$2,333.60	\$4,667.20

ITB Name: Runway Incursion Mitigation – PDK 11 – Taxiway Improvements

ITB No.: 20-101257



Procurement Agent: Jovan Hooper

Cost Opening: June 4, 2020

				CW MATTHEWS CONTRACTING CO., INC.		LEWIS CONTRACTING SERVICES, LLC		BRTU CONSTRUCTION, INC.		. ASTRA GROUP, INC.		PRECISION 2000, INC.		
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	EST. QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
27	GDOT-163B	CONSTRUCT, MAINTAIN, AND REMOVE FLOATING SURFACE SKIMMER	1	EACH	\$2,829.26	\$2,829.26	\$4,428.12	\$4,428.12	\$1,000.00	\$1,000.00	\$534.37	\$534.37	\$4,451.90	\$4,451.90
28	GDOT-163C	CONSTRUCT, MAINTAIN, AND REMOVE STONE RIP RAP CHECK DAM	7	EACH	\$987.80	\$6,914.60	\$439.64	\$3,077.48	\$400.00	\$2,800.00	\$341.61	\$2,391.27	\$927.70	\$6,493.90
29	GDOT-163D	CONSTRUCT, MAINTAIN, AND REMOVE INLET SEDIMENT TRAP	24	EACH	\$265.00	\$6,360.00	\$628.85	\$15,092.40	\$350.00	\$8,400.00	\$255.49	\$6,131.76	\$432.60	\$10,382.40
30	GDOT-163E	CONSTRUCT, MAINTAIN, AND REMOVE STONE FILTER RING	1	EACH	\$756.58	\$756.58	\$940.22	\$940.22	\$500.00	\$500.00	\$1,171.90	\$1,171.90	\$662.70	\$662.70
31	GDOT-163F	CONSTRUCT, MAINTAIN, AND REMOVE TEMPORARY SEDIMENT BASIN	1	EACH	\$24,313.97	\$24,313.97	\$18,448.39	\$18,448.39	\$10,000.00	\$10,000.00	\$14,788.91	\$14,788.91	\$2,409.70	\$2,409.70
32	GDOT-163G	CONSTRUCT, MAINTAIN, AND REMOVE COMPOST FILTER SOCK	950	LIN. FT.	\$16.00	\$15,200.00	\$9.77	\$9,281.50	\$6.00	\$5,700.00	\$27.47	\$26,096.50	\$20.00	\$19,000.00
33	GDOT-167A	WATER QUALITY MONITORING AND SAMPLING	2	EACH	\$250.00	\$500.00	\$756.95	\$1,513.90	\$1,000.00	\$2,000.00	\$282.68	\$565.36	\$120.50	\$241.00
34	GDOT-167B	WATER QUALITY INSPECTIONS	6	MONTH	\$350.00	\$2,100.00	\$465.81	\$2,794.86	\$600.00	\$3,600.00	\$565.36	\$3,392.16	\$482.00	\$2,892.00
35	GDOT-171A	INSTALL AND MAINTAIN TEMPORARY SILT FENCE, TYPE C	160	LIN. FT.	\$8.00	\$1,280.00	\$15.20	\$2,432.00	\$6.00	\$960.00	\$8.27	\$1,323.20	\$6.70	\$1,072.00
36	T-901-5.1	SEEDING	11	ACRE	\$1,850.00	\$20,350.00	\$2,012.31	\$22,135.41	\$2,000.00	\$22,000.00	\$2,091.82	\$23,010.02	\$11,731.40	\$129,045.40
37	T-904-5.1	SODDING	5,300	SQ. YD.	\$6.95	\$36,835.00	\$15.09	\$79,977.00	\$12.00	\$63,600.00	\$8.48	\$44,944.00	\$9.70	\$51,410.00
38	T-905-5.1	TOPSOIL (OBTAINED ON SITE)	1,448	CU. YD.	\$89.25	\$129,234.00	\$7.70	\$11,149.60	\$20.00	\$28,960.00	\$8.82	\$12,771.36	\$26.30	\$38,082.40
39	T-905-5.2	TOPSOIL (FURNISHED FROM OFF THE SITE)	4,493	CU. YD.	\$62.64	\$281,441.52	\$64.10	\$288,001.30	\$65.00	\$292,045.00	\$33.90	\$152,312.70	\$42.20	\$189,604.60
40	T-908-5.1	MULCHING	7,000	SQ. YD.	\$0.25	\$1,750.00	\$2.90	\$20,300.00	\$4.50	\$31,500.00	\$0.23	\$1,610.00	\$1.80	\$12,600.00
41	L-108-5.1	NO. 8 AWG, 5 KV, L-824, TYPE C CABLE, INSTALLED IN TRENCH, DUCT BANK OR CONDUIT	24,000	L.F.	\$1.25	\$30,000.00	\$1.16	\$27,840.00	\$1.40	\$33,600.00	\$1.29	\$30,960.00	\$1.30	\$31,200.00
42	L-108-5.2	NO. 6 AWG, SOLID, BARE COPPER COUNTERPOISE WIRE, INSTALLED IN TRENCH, ABOVE THE DUCT BANK OR CONDUIT, INCLUDING GROUND RODS AND CONNECTIONS/TERMINATIONS	7,690	L.F.	\$2.20	\$16,918.00	\$1.16	\$8,920.40	\$2.50	\$19,225.00	\$2.27	\$17,456.30	\$1.30	\$9,997.00
43	L-109-7.1	INSTALLATION OF AIRPORT TRANSFORMER VAULT EQUIPMENT IN PLACE	1	L. SUM	\$69,000.00	\$69,000.00	\$87,340.06	\$87,340.06	\$90,850.00	\$90,850.00	\$71,133.98	\$71,133.98	\$90,361.50	\$90,361.50
44	L-110-5.1	CONCRETE ENCASED, ELECTRICAL DUCT BANK, 4-WAY 4-INCH	465	L.F.	\$65.00	\$30,225.00	\$58.23	\$27,076.95	\$74.80	\$34,782.00	\$67.01	\$31,159.65	\$60.30	\$28,039.50
45	L-110-5.2	NON-ENCASED, ELECTRICAL CONDUIT, 1-WAY 2-INCH	6,900	L.F.	\$2.90	\$20,010.00	\$2.91	\$20,079.00	\$3.30	\$22,770.00	\$2.99	\$20,631.00	\$3.10	\$21,390.00
46	L-110-5.3	CONCRETE ENCASED, ELECTRICAL CONDUIT, 1-WAY 2-INCH	325	LIN. FT.	\$18.00	\$5,850.00	\$11.65	\$3,786.25	\$20.70	\$6,727.50	\$18.56	\$6,032.00	\$12.10	\$3,932.50
47	L-110-5.4	HDPE, ELECTRICAL CONDUIT, 2-WAY 4- INCH	320	LIN. FT.	\$85.00	\$27,200.00	\$58.23	\$18,633.60	\$97.80	\$31,296.00	\$87.63	\$28,041.60	\$60.30	\$19,296.00
48	L-115-5.1	ELECTRICAL HANDHOLE, CONCRETE ENCASED, TYPE A, COMPLETE IN PLACE	12	EACH	\$8,200.00	\$98,400.00	\$11,063.07	\$132,756.84	\$9,430.00	\$113,160.00	\$8,453.60	\$101,443.20	\$11,445.80	\$137,349.60
49	L-115-5.2	ELECTRICAL JUNCTION STRUCTURE, L- 867E BASE, CONCRETE ENCASED, USED AS HANDHOLE IN TURF AT DIRECTIONAL BORED CONDUITS	4	EACH	\$1,400.00	\$5,600.00	\$1,863.26	\$7,453.04	\$1,610.00	\$6,440.00	\$1,443.30	\$5,773.20	\$1,927.80	\$7,711.20

ITB Name: Runway Incursion Mitigation – PDK 11 – Taxiway Improvements

ITB No.: 20-101257



Procurement Agent: Jovan Hooper

Cost Opening: June 4, 2020

				CW MATTHEWS CONTRACTING CO., INC.		LEWIS CONTRACTING SERVICES, LLC		BRTU CONSTRUCTION, INC.		. ASTRA GROUP, INC.		PRECISION 2000, INC.		
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	EST. QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
50	L-115-5.3	ELECTRICAL JUNCTION STRUCTURE, L- 867D BASE, CONCRETE ENCASED, USED AS HANDHOLE/PULL BOX IN TURF	13	EACH	\$950.00	\$12,350.00	\$1,513.89	\$19,680.57	\$1,092.50	\$14,202.50	\$979.38	\$12,731.94	\$1,566.30	\$20,361.90
51	L-125- 5.1	L-861T, QUARTZ MEDIUM INTENSITY TAXIWAY EDGE LIGHT ON L-867B BASE IN TURF, COMPLETE IN PLACE	95	EACH	\$875.00	\$83,125.00	\$1,048.08	\$99,567.60	\$1,006.30	\$95,598.50	\$902.06	\$85,695.70	\$1,084.40	\$103,018.00
52	L-125- 5.2	L-861, QUARTZ MEDIUM INTENSITY RUNWAY EDGE LIGHT ON L-867B BASE IN TURF, COMPLETE IN PLACE	1	EACH	\$950.00	\$950.00	\$1,106.31	\$1,106.31	\$1,092.50	\$1,092.50	\$979.38	\$979.38	\$1,144.60	\$1,144.60
53	L-125- 5.3	L-852D, QUARTZ IN-PAVEMENT TAXIWAY CENTERLINE LIGHT USED AS IN-PAVEMENT MEDIUM INTENSITY RUNWAY EDGE LIGHT ON L-868B BASE IN PAVEMENT, COMPLETE IN PLACE	2	EACH	\$3,500.00	\$7,000.00	\$3,260.70	\$6,521.40	\$4,025.00	\$8,050.00	\$3,608.24	\$7,216.48	\$3,373.50	\$6,747.00
54	L-125- 5.4	L-862, QUARTZ HIGH INTENSITY RUNWAY EDGE LIGHT ON L-867B BASE IN TURF, COMPLETE IN PLACE	1	EACH	\$1,400.00	\$1,400.00	\$1,339.21	\$1,339.21	\$1,610.00	\$1,610.00	\$1,443.30	\$1,443.30	\$1,385.60	\$1,385.60
55	L-125- 5.5	L-850C, QUARTZ IN-PAVEMENT HIGH INTENSITY RUNWAY EDGE LIGHT ON L-868B BASE IN PAVEMENT, COMPLETE IN PLACE	1	EACH	\$3,500.00	\$3,500.00	\$3,144.24	\$3,144.24	\$4,025.00	\$4,025.00	\$3,608.25	\$3,608.25	\$3,253.10	\$3,253.10
56	L-125- 5.6	L-852G(L), LED IN-PAVEMENT RUNWAY GUARD LIGHT ON L-868B BASE IN PAVEMENT, COMPLETE IN PLACE	31	EACH	\$2,600.00	\$80,600.00	\$3,260.70	\$101,081.70	\$2,990.00	\$92,690.00	\$2,680.41	\$83,092.71	\$3,373.50	\$104,578.50
57	L-125- 5.7	L-858(L) LED SIGN, SIZE 1, 1-2 CHARACTERS, CONCRETE PAD, L-867B BASE, IN TURF, COMPLETE IN PLACE	10	EACH	\$3,302.00	\$33,020.00	\$5,240.40	\$52,404.00	\$3,797.30	\$37,973.00	\$3,404.12	\$34,041.20	\$5,421.70	\$54,217.00
58	L-125- 5.8	L-858(L) LED SIGN, SIZE 1, 3-4 CHARACTERS, CONCRETE PAD, L-867B BASE, IN TURF, COMPLETE IN PLACE	4	EACH	\$4,950.00	\$19,800.00	\$6,404.94	\$25,619.76	\$5,692.50	\$22,770.00	\$5,103.09	\$20,412.36	\$6,626.60	\$26,506.40
59	L-125- 5.9	L-858(L) LED SIGN, SIZE 1, 5-6 CHARACTERS, CONCRETE PAD, L-867B BASE, IN TURF, COMPLETE IN PLACE	2	EACH	\$5,800.00	\$11,600.00	\$6,987.21	\$13,974.42	\$6,670.00	\$13,340.00	\$5,979.38	\$11,958.76	\$7,229.00	\$14,458.00
60	L-125-5.10	L-858(L) LED SIGN, SIZE 1, 7-8 CHARACTERS, CONCRETE PAD, L-867B BASE, IN TURF, COMPLETE IN PLACE	5	EACH	\$5,200.00	\$26,000.00	\$7,569.47	\$37,847.35	\$5,980.00	\$29,900.00	\$5,360.82	\$26,804.10	\$7,831.40	\$39,157.00
61	L-125-5.11	REMOVE EXISTING TAXIWAY LIGHT, BASE MOUNT WITH CONCRETE ENCASEMENT, IN TURF, COMPLETE	60	EACH	\$110.00	\$6,600.00	\$366.27	\$21,976.20	\$126.50	\$7,590.00	\$113.40	\$6,804.00	\$120.50	\$7,230.00
62	L-125-5.12	REMOVE EXISTING RUNWAY LIGHT, BASE MOUNT WITH CONCRETE ENCASEMENT, IN TURF, COMPLETE	3	EACH	\$200.00	\$600.00	\$116.45	\$349.35	\$230.00	\$690.00	\$206.19	\$618.57	\$120.50	\$361.50
63	L-125-5.13	REMOVE EXISTING L-850C IN- PAVEMENT RUNWAY LIGHT FIXTURE AND ISOLATION TRANSFORMER, ABANDON BASE IN PAVEMENT, COMPLETE	1	EACH	\$500.00	\$500.00	\$349.36	\$349.36	\$575.00	\$575.00	\$515.47	\$515.47	\$361.50	\$361.50
64	L-125-5.14	REMOVE EXISTING TRANSFORMER BASE WITH CONCRETE ENCASEMENT, IN TURF, COMPLETE	1	EACH	\$500.00	\$500.00	\$116.45	\$116.45	\$575.00	\$575.00	\$515.47	\$515.47	\$120.50	\$120.50
65	L-125-5.15	REMOVE EXISTING SIGN AND CONCRETE SIGN PAD, IN TURF, COMPLETE	19	EACH	\$510.00	\$9,690.00	\$732.53	\$13,918.07	\$586.50	\$11,143.50	\$525.77	\$9,989.63	\$241.00	\$4,579.00

ITB No.: 20-101257

ITB Name: Runway Incursion Mitigation - PDK 11 - Taxiway Improvements



Procurement Agent: Jovan Hooper

				CW MATTHEWS CONTRACTING CO., INC.		LEWIS CONTRACTING SERVICES, LLC		BRTU CONSTRUCTION, INC.		ASTRA GROUP, INC.		PRECISION 2000, INC.		
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	EST. QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
66	L-125-5.16	REMOVE EXISTING L-804G ELEVATED RUNWAY GUARD LIGHT AND CONCRETE SIGN PAD, IN TURF, COMPLETE	6	EACH	\$420.00	\$2,520.00	\$116.45	\$698.70	\$483.00	\$2,898.00	\$432.99	\$2,597.94	\$120.50	\$723.00
					CW MATTHEWS CONTRACTING CO., INC.		LEWIS CONTRACTING SERVICES, LLC		BRTU CONSTRUCTION, INC.		ASTRA GROUP, INC.		PRECISION 2000, INC.	
TOTAL BASE BID:					\$3,711,060.18		\$3,967,409.75		\$4,122,584.20		\$3,074,888.00		\$4,198,174.40	

Number of Bids Received: 5	CW MATTHEWS CONTRACTING CO., INC.	LEWIS CONTRACTING SERVICES, LLC	BRTU CONSTRUCTION, INC.	ASTRA GROUP, INC.	PRECISION 2000, INC.
Attendance at the Mandatory Pre-Bid Meeting, Verified? (Yes/No)	Yes	Yes	Yes	Yes	Yes
Vendor submitted in cost in separate sealed sealed envelope? (Yes/No)	Yes	Yes	Yes	Yes	Yes
Vendor included cost in other areas outside of separate sealed envelope? (Yes/ No)	No	No	No	No	No
Bid Acknowledgement Form	Yes	Yes	Yes	Yes	Yes
Federal Disbarment	No	No	No	No	No
Contractor Reference and Release Form	Yes	Yes	Yes	Yes	Yes

Vitness Signature:			
gent Signature:			